

Volume 16, Issue 4

Published online: October 1, 2020

Journal of Progressive Research in Mathematics www.scitecresearch.com/journals

# Some identities involving the $\lambda$ -Daehee numbers and polynomials

Yan-Hong Li<sup>1,\*</sup>, Wuyungaowa<sup>2</sup> Department of Mathematics College of Sciences and Technology Inner Mongolia University Huhhot 010021, P. R. China

**Abstract.** In this paper, we introduce the  $\lambda$  -Daehee numbers and polynomials of higher order. And we obtain some properties of this numbers and polynomials. In addition, we explore some new equalities and relations involving  $\lambda$  -Daehee numbers and polynomials.

**Keywords:** λ -Daehee polynomials; Various Daehee polynomials; Generating functions; The Bernoulli numbers and polynomials; Cauchy numbers; Four kinds of stirling numbers.

#### 1. Introduction

Let  $k \in \mathbb{N}$ ,  $x \in \mathbb{R}$ , the High-Daehee polynomials are defined by the following generating function

$$\left(\frac{\ln(1+t)}{t}\right)^k (1+t)^x = \sum_{n=0}^{\infty} D_n^{(k)}(x) \frac{t^n}{n!}. \quad (see[1,3])$$
(1)

When x = 0 in (1),  $D_n^{(k)} = D_n^{(k)}(0)$  are called the High-Daehee numbers.

When k = 1, we can obtain Daehee polynomials.

The degenerate Daehee polynomials are given by the generating function to be

$$\frac{\ln(1+t)}{\ln(1+\lambda t)^{\frac{1}{\lambda}}} (1+t)^x = \sum_{n=0}^{\infty} d_n(x|\lambda) \frac{t^n}{n!}. \quad (see[2])$$
 (2)

When x = 0,  $d_n(\lambda) = d_n(0|\lambda)$  are called the degenerate Daehee numbers.

The partially degenerate Daehee polynomials are defined by

$$\frac{(1+t)^{\lambda}-1}{\lambda t}(1+t)^{x} = \sum_{n=0}^{\infty} \tilde{d}_{n}(x|\lambda)\frac{t^{n}}{n!}. \quad (see[2])$$

When x = 0,  $\tilde{d}_n(\lambda) = \tilde{d}_n(0|\lambda)$  are called the partially degenerate Daehee numbers.

The totally degenerate Daehee polynomials are defined by the following generating function

$$\frac{(1+t)^{\lambda} - 1}{\ln(1+\lambda t)} (1+t)^{x} = \sum_{n=0}^{\infty} d_{n}^{*}(x|\lambda) \frac{t^{n}}{n!}. \quad (see[2])$$
(4)

Supported by the National Natural Science Foundation of China under Grant 11461050 and Natural Science Foundation of Inner Mongolia 2020MS01020.

\* Corresponding author

E-mail address: luoyanan513@163.com (Ya-Nan Luo); wuyungw@163.com (Wuyungaowa)

When x = 0,  $d_n^*(\lambda) = d_n^*(0|\lambda)$  are called the totally degenerate Daehee numbers.

The high  $\lambda$ -Daehee polynomials of the second kind are defined by the following generating function

$$\left(\frac{\lambda ln(1+t)}{(1+t)^{\lambda}-1}\right)^{k} (1+t)^{\lambda k+x} = \sum_{n=0}^{\infty} \hat{D}_{n,\lambda}^{(k)}(x) \frac{t^{n}}{n!}. \quad (see[1])$$

The high cauchy polynomials of the first kind are given by the generating function

$$\left(\frac{t}{\ln(1+t)}\right)^k (1+t)^x = \sum_{n=0}^{\infty} C_n^{(k)}(x) \frac{t^n}{n!}. \quad (see[3,4])$$
(6)

when x = 0, k = 1,  $C_n = C_n(0)$  are called the cauchy numbers.

The high cauchy polynomials of the second kind are given by the generating function

$$\left(\frac{t}{(1+t)ln(1+t)}\right)^k (1+t)^x = \sum_{n=0}^{\infty} \hat{C}_n^{(k)}(x) \frac{t^n}{n!}.$$
 ([4])

when x = 0, k = 1,  $\hat{C}_n = \hat{C}_n(0)$  are called the cauchy numbers of the second kind.

The Bernoulli polynomils are given by the generating function to be

$$\frac{t}{e^t - 1}e^{xt} = \sum_{n=0}^{\infty} B_n(x)\frac{t^n}{n!}.$$
 ([5, 6, 7])

The high degenerate Bernoulli numbers of the second are given by the generating function

$$\left(\frac{\lambda t}{(1+t)^{\lambda}-1}\right)^{k} (1+t)^{x} = \sum_{n=0}^{\infty} b_{n,\lambda}^{(k)}(x) \frac{t^{n}}{n!}. \quad ([6])$$

The partially degenerate Bernoulli polynomils of the first kind which are given by the generating function to be

$$\frac{\ln(1+\lambda t)^{\frac{1}{\lambda}}}{e^t - 1}e^{xt} = \sum_{n=0}^{\infty} B_{n,\lambda}(x)\frac{t^n}{n!}.$$
 ([7])

The  $\lambda$ -Changhee Genocchi polynomials are given by the generating function to be

$$\frac{2ln(1+t)}{(1+t)^{\lambda}+1}(1+t)^{\lambda x} = \sum_{n=0}^{\infty} CG_{n,\lambda}(x) \frac{t^n}{n!}.$$
 ([8])

The classical Harmonic numbers are given by the generating function

$$\frac{-\ln(1-t)}{1-t} = \sum_{n=1}^{\infty} H_n t^n. \quad ([9])$$

The Lah numbers are given by the generating function

$$\frac{\left(\frac{-t}{1+t}\right)^k}{k!} = \sum_{n \ge k} L(n,k) \frac{t^n}{n!}.$$
 ([10])

The stirling numbers of first kind and two kind are defined by

$$\frac{\ln^k(1+t)}{k!} \sum_{n \ge k} s(n,k) \frac{t^n}{n!}.$$
 ([11])

$$\frac{(e^t - 1)^k}{k!} = \sum_{n \ge k} S(n, k) \frac{t^n}{n!}.$$
 ([11])

The degenerate stirling numbers of first kind and two kind are defined by

$$\frac{\left(\frac{1}{\lambda}((1+t)^{\lambda}-1)\right)^{k}}{k!} = \sum_{n\geq k} s_{1,\lambda}(n,k) \frac{t^{n}}{n!}.$$
 ([12])

$$\frac{((1+\lambda t)^{\frac{1}{\lambda}}-1)^k}{k!} = \sum_{n>k} S_{2,\lambda}(n,k) \frac{t^n}{n!}.$$
 ([12])

## 2. Properties of $\lambda$ -Daehee numbers and polynomials

In this section, we give the definition of  $\lambda$ -Daehee numbers and polynomials and some properties of them.

The  $\lambda$ -Daehee polynomials are given by

$$\frac{\lambda \ln(1+t)}{(1+t)^{\lambda}-1}(1+t)^{x} = \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^{n}}{n!}.$$
(18)

when x = 0,  $D_{n,\lambda} = D_{n,\lambda}(0)$  are called the  $\lambda$ -Daehee numbers.

Theorem 2.1 Suppose  $n_i \geq 0$ ,  $k_i \geq 0$ ,  $i \in [m]$ ,  $m \geq 1$ , there are properties about  $\lambda$ -Daehee polynomials  $D_{n,\lambda}(x)$  as follows

$$\sum_{n_1+n_2+\cdots n_m=n} {n \choose n_1, n_2, \cdots, n_m} D_{n_1, \lambda}^{(k_1)}(x_1) D_{n_2, \lambda}^{(k_2)}(x_2) \cdots D_{n_m, \lambda}^{(k_m)}(x_m) = D_{n, \lambda}^{(k_1+\cdots+k_m)}(x_1+\cdots+x_m).$$
(19)

Proof By (18), we get

$$\begin{split} &\sum_{n=0}^{\infty} D_{n,\lambda}^{(k_1+\dots+k_m)}(x_1+\dots+x_m) \frac{t^n}{n!} \\ &= \left(\frac{\lambda l n(1+t)}{(1+t)^{\lambda}-1}\right)^{(k_1+k_2+\dots+k_m)} (1+t)^{x_1+x_2+\dots+x_m} \\ &= \sum_{n_1=0}^{\infty} D_{n_1}^{(k_1)}(x_1) \frac{t^{n_1}}{n_1!} \dots \sum_{n_m=0}^{\infty} D_{n_m}^{(k_m)}(x_m) \frac{t^{n_m}}{n_m!} \\ &= \sum_{n=0}^{\infty} \sum_{n_1+n_2+\dots+n_m=n} \binom{n}{n_1,n_2,\dots,n_m} D_{n_1,\lambda}^{(k_1)}(x_1) \dots D_{n_m,\lambda}^{(k_m)}(x_m) \frac{t^n}{n!}. \end{split}$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides, we get the identities (19).

Corollary 2.1 For  $x_1 = \cdots = x_m = 0$  in (19), we obtain the following identities

$$\sum_{n_1+n_2+\dots+n_m=n} \binom{n}{n_1, n_2, \dots, n_m} D_{n_{1,\lambda}}^{(k_1)} D_{n_{2,\lambda}}^{(k_2)} \cdots D_{n_{m,\lambda}}^{(k_m)} = D_{n,\lambda}^{(k_1+k_2\dots+k_m)}. \tag{20}$$

Theorem 2.2 For  $n \ge 0$ ,  $\lambda \ge 1$ , we have

$$\sum_{m=0}^{n} D_{m,\lambda}(x)(y)_{n-m} = D_{n,\lambda}(x+y). \tag{21}$$

Proof By the method of generating function, we get

$$\sum_{n=0}^{\infty} \sum_{m=0}^{n} D_{m,\lambda}(x)(y)_{n-m} \frac{t^{n}}{n!} = \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} (y)_{n} \frac{t^{n}}{n!}$$
$$= \frac{\lambda l n (1+t)}{(1+t)^{\lambda} - 1} (1+t)^{x} (1+t)^{y} = \sum_{n=0}^{\infty} D_{n,\lambda}(x+y) \frac{t^{n}}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides, we can easily get the identities.

Theorem 2.3 For  $n \ge 0$ ,  $\lambda \ge 1$ , we have

$$D_{n,\lambda}(\lambda) - D_{n,\lambda} = \begin{cases} 0, & n = 0, \\ \lambda(-1)^{n-1}(n-1)!, & n \geqslant 1. \end{cases}$$
 (22)

Proof On the one hand, we get

$$\lambda \ln(1+t) = \sum_{n=0}^{\infty} D_{n,\lambda} \frac{t^n}{n!} ((1+t)^{\lambda} - 1)$$

$$= \frac{\lambda \ln(1+t)}{(1+t)^{\lambda} - 1} (1+t)^{\lambda} - \frac{\lambda \ln(1+t)}{(1+t)^{\lambda} - 1}$$

$$= \sum_{n=0}^{\infty} (D_{n,\lambda}(\lambda) - D_{n,\lambda}) \frac{t^n}{n!}.$$

On the other hand

$$\lambda \ln(1+t) = \lambda \sum_{n=1}^{\infty} (-1)^{n-1} (n-1)! \frac{t^n}{n!}.$$

Which completes the proof.

**Theorem 2.4** For  $n \ge 0, \lambda \ge 1$ , we have

$$\int_{0}^{1} D_{n,\lambda}(x)dx = b_{n,\lambda}.$$
(23)

Proof By the method of generating function, we get

$$\sum_{n=0}^{\infty} \int_{0}^{1} D_{n,\lambda}(x) dx \frac{t^{n}}{n!} = \int_{0}^{1} \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^{n}}{n!} dx$$

$$= \int_{0}^{1} \frac{\lambda l n (1+t)}{(1+t)^{\lambda} - 1} (1+t)^{x} dx = \frac{\lambda l n (1+t)}{(1+t)^{\lambda} - 1} \frac{(1+t)^{x}|_{0}^{1}}{l n (1+t)}$$

$$= \frac{\lambda t}{(1+t)^{\lambda} - 1} = \sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^{n}}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides, we can easily get the identities.

Theorem 2.5 For  $n \ge k$ ,  $\lambda \ge 1$ , we have

$$\frac{1}{k!}(D_{n,\lambda}(x))^{(k)} = \sum_{m=0}^{n-k} D_{m,\lambda}(x)s(n-m,k).$$
(24)

Proof By the method of generating function, we get

$$\frac{1}{k!} \sum_{n=0}^{\infty} (D_{n,\lambda}(x))^{(k)} \frac{t^n}{n!} = \frac{1}{k!} (\sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^n}{n!})^{(k)}$$

$$= \frac{\lambda l n (1+t)}{(1+t)^{\lambda} - 1} (1+t)^x \frac{l n^k (1+t)}{k!}$$

$$= \sum_{n=0}^{\infty} D_{n,\lambda}(x) \sum_{n \ge k} s(n,k) \frac{t^n}{n!}$$

$$= \sum_{n \ge k} \sum_{m=0}^{n-k} D_{m,\lambda}(x) s(n-m,k) \frac{t^n}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides, we can easily get the identities.

#### 3. Identities about $\lambda$ -Daehee numbers and polynomials

In this part, we derive some new equalities involving  $\lambda$ -Daehee numbers and polynomials

Theorem 3.1 For  $n \ge 1$ , we have

$$\sum_{m=0}^{n} \binom{n}{m} CG_{m,\lambda} b_{n-m,\lambda} + \frac{n\lambda}{2} CG_{n-1,\lambda} = nD_{n-1,\lambda}. \tag{25}$$

Proof On the one hand, we have

$$t\frac{\lambda ln(1+t)}{(1+t)^{\lambda}-1} = \sum_{n=0}^{\infty} D_{n,\lambda} \frac{t^{n+1}}{n!} = \sum_{n=1}^{\infty} n D_{n-1,\lambda} \frac{t^n}{n!}.$$

On the other hand, we hane

$$t\frac{\lambda ln(1+t)}{(1+t)^{\lambda}-1} = \frac{1}{2} \frac{2ln(1+t)}{(1+t)^{\lambda}+1} \frac{\lambda t((1+t)^{\lambda}+1)}{(1+t)^{\lambda}-1}$$

$$= \frac{1}{2} \sum_{n=0}^{\infty} CG_{n,\lambda} \frac{t^n}{n!} \lambda t(1 + \frac{2}{(1+t)^{\lambda}-1})$$

$$= \frac{1}{2} \sum_{n=0}^{\infty} CG_{n,\lambda} \frac{t^n}{n!} (\lambda t + 2 \sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^n}{n!})$$

$$= \frac{\lambda}{2} \sum_{n=1}^{\infty} nCG_{n-1,\lambda} \frac{t^n}{n!} + \sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} CG_{m,\lambda} b_{n-m,\lambda} \frac{t^n}{n!}.$$

So, we gain

$$\sum_{n=1}^{\infty} (nD_{n-1,\lambda} - \frac{n\lambda}{2}CG_{n-1,\lambda}) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} CG_{m,\lambda} b_{n-m,\lambda} \frac{t^n}{n!}.$$

Which completes the proof.

Theorem 3.2 For  $n \ge 0$ , we have

$$\sum_{m=0}^{n} \lambda^{m} B_{m}^{(k)}(x) s(n,m) = D_{n,\lambda}^{(k)}(\lambda x). \tag{26}$$

$$\sum_{m=0}^{n} D_{m,\lambda}^{(k)}(\lambda x) S(n,m) = \lambda^{n} B_{n}^{(k)}(x).$$
(27)

Proof By the method of generating function, we get

$$\sum_{n=0}^{\infty} \sum_{m=0}^{n} \lambda^{m} B_{m}^{(k)}(x) s(n,m) \frac{t^{n}}{n!} = \sum_{m=0}^{\infty} \lambda^{m} B_{m}^{(k)}(x) \sum_{n \ge m} s(n,m) \frac{t^{n}}{n!}$$

$$= \sum_{m=0}^{\infty} B_{m}^{(k)}(x) \frac{\lambda^{m} l n^{m} (1+t)}{m!} = \left(\frac{\lambda l n (1+t)}{e^{\lambda l n (1+t)} - 1}\right)^{k} e^{\lambda x l n (1+t)}$$

$$= \left(\frac{\lambda l n (1+t)}{(1+t)^{\lambda} - 1}\right)^{k} (1+t)^{\lambda x} = \sum_{n=0}^{\infty} D_{n,\lambda}^{(k)}(\lambda x) \frac{t^{n}}{n!}$$

Which completes the proof of (26), the same reasoning can be proved (27). In addition, we can consider equation (27) as the inversion formula for (26).

Theorem 3.3 For  $n \ge 0$ , we get

$$\sum_{m=0}^{n} D_{m}^{(k)}(x) \lambda^{m} s_{1,\lambda}(n,m) = D_{n,\lambda}^{(k)}(\lambda x).$$
(28)

$$\sum_{m=0}^{n} D_{m,\lambda}^{(k)}(\lambda x) S_{2,\lambda}(n,m) = D_n^{(k)}(x) \lambda^n.$$
(29)

**Proof** By the method of generating function, we get

$$\sum_{n=0}^{\infty} \sum_{m=0}^{n} D_{m}^{(k)}(x) \lambda^{m} s_{1,\lambda}(n,m) \frac{t^{n}}{n!}$$

$$= \sum_{m=0}^{\infty} D_{m}^{(k)}(x) \lambda^{m} \sum_{n \geq m} s_{1,\lambda}(n,m) \frac{t^{n}}{n!}$$

$$= \sum_{m=0}^{\infty} D_{m}^{(k)}(x) \lambda^{m} \frac{\left(\frac{1}{\lambda}((1+t)^{\lambda}-1)\right)^{m}}{m!}$$

$$= \frac{\ln(1+((1+t)^{\lambda}-1))}{(1+t)^{\lambda}-1} (1+((1+t)^{\lambda}-1))^{x}$$

$$= \frac{\lambda \ln(1+t)}{(1+t)^{\lambda}-1} (1+t)^{\lambda x} = \sum_{n=0}^{\infty} D_{n,\lambda}^{(k)}(\lambda x) \frac{t^{n}}{n!}.$$

Which completes the proof of (28), the same reasoning can be proved (29). In addition, we can consider equation (29) as the inversion formula for (28). Theorem 3.4 For  $n \ge 0$ , we get

$$\sum_{m=0}^{n-k} \binom{n}{m} D_{m,\lambda}^{(k)} s_{1,\lambda}(n-m,k) = s(n,k). \tag{30}$$

Proof By the method of generating function, we have

$$\begin{split} & \sum_{n \geq k} \sum_{m=0}^{n-k} \binom{n}{m} D_{m,\lambda}^{(k)} s_{1,\lambda} (n-m,k) \frac{t^n}{n!} \\ & = \sum_{n=0}^{\infty} D_{n,\lambda}^{(k)} \frac{t^n}{n!} \sum_{n \geq k} s_{1,\lambda} (n,k) \frac{t^n}{n!} \\ & = \left( \frac{\ln(1+t)}{\frac{1}{\lambda}((1+t)^{\lambda}-1)} \right)^k \frac{(\frac{1}{\lambda}((1+t)^{\lambda}-1))^k}{k!} \\ & = \frac{\ln^k(1+t)}{k!} = \sum_{n \geq k} s(n,k) \frac{t^n}{n!}. \end{split}$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we can complete the proof.

Theorem 3.5 For  $n \ge 0$ , we get

$$\sum_{m=0}^{n-1} b_{m,\lambda} (-1)^{n-m-1} (n-m-1)! = nD_{n-1,\lambda}.$$
(31)

**Proof** By the method of generating function, we have

$$\sum_{n=1}^{\infty} \sum_{m=0}^{n-1} b_{m,\lambda} (-1)^{n-m-1} (n-m-1)! \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^n}{n!} \sum_{n=1}^{\infty} (-1)^{n-1} (n-1)! \frac{t^n}{n!}$$

$$= \frac{\lambda t}{(1+t)^{\lambda} - 1} ln(1+t) = \frac{\lambda ln(1+t)}{(1+t)^{\lambda} - 1} t$$

$$= \sum_{n=0}^{\infty} D_{n,\lambda} \frac{t^{n+1}}{n!} = \sum_{n=1}^{\infty} n D_{n-1,\lambda} \frac{t^n}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we can complete the proof.

Theorem 3.6 For  $n \ge 0$ ,  $d \in \mathbb{N}^+$ , we have

$$\frac{1}{d}\sum_{\alpha=0}^{d-1} D_{n,\lambda d}(\alpha \lambda + x) = D_{n,\lambda}(x). \tag{32}$$

Proof By the method of generating function, we have

$$\frac{1}{d} \sum_{n=0}^{\infty} \sum_{\alpha=0}^{d-1} D_{n,\lambda d}(\alpha \lambda + x) \frac{t^n}{n!} = \frac{1}{d} \sum_{\alpha=0}^{d-1} \sum_{n=0}^{\infty} D_{n,\lambda d}(\alpha \lambda + x) \frac{t^n}{n!}$$

$$= \frac{1}{d} \sum_{\alpha=0}^{d-1} \frac{\lambda d \ln(1+t)}{(1+t)^{\lambda d} - 1} (1+t)^{\alpha \lambda + x} = \frac{\lambda \ln(1+t)}{(1+t)^{\lambda d} - 1} \sum_{\alpha=0}^{d-1} (1+t)^{\alpha \lambda + x}$$

$$= \frac{\lambda \ln(1+t)}{(1+t)^{\lambda d} - 1} (1+t)^x \frac{1 - (1+t)^{\lambda d}}{1 - (1+t)^{\lambda}}$$

$$= \frac{\lambda \ln(1+t)}{(1+t)^{\lambda} - 1} (1+t)^x = \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^n}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we complete the proof.

Theorem 3.7 For  $n \ge 0$ , we have

$$\sum_{m=0}^{n} {n \choose m} \frac{(\lambda - 1)_{m+1}}{(m+1)} D_{n-m,\lambda}(x) = D_n(x).$$
(33)

Proof By the method of generating function, we have

$$\sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} \frac{(\lambda - 1)_{m+1}}{(m+1)} D_{n-m,\lambda}(x) \frac{t^{n}}{n!}$$

$$= \sum_{n=0}^{\infty} \frac{(\lambda)_{n+1}}{\lambda(n+1)} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^{n}}{n!}$$

$$= \frac{1}{\lambda t} \sum_{n=1}^{\infty} (\lambda)_{n} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^{n}}{n!}$$

$$= \frac{(1+t)^{\lambda} - 1}{\lambda t} \frac{\lambda \ln(1+t)}{(1+t)^{\lambda} - 1} (1+t)^{x}$$

$$= \frac{\ln(1+t)}{t} (1+t)^{x} = \sum_{n=0}^{\infty} D_{n}(x) \frac{t^{n}}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we complete the proof.

Theorem 3.8 For  $n \ge 1$ , we have

$$\sum_{m=0}^{n} \binom{n}{m} \frac{(\lambda - 1)_{m+1}}{(m+1)} D_{n-m,\lambda}(x) = (-1)^{n} (H_{n+1} - H_n) n!.$$
 (34)

Proof By the method of generating function we have

$$\sum_{n=0}^{\infty} D_n \frac{t^n}{n!} = \frac{-\ln(1+t)}{1+t} \frac{1+t}{-t}$$

$$= \sum_{n=1}^{\infty} (-1)^{n+1} H_n t^n (1+\frac{1}{t})$$

$$= \sum_{n=1}^{\infty} (-1)^{n+1} H_n t^n + \sum_{n=0}^{\infty} (-1)^{n+2} H_{n+1} t^n$$

$$= \sum_{n=1}^{\infty} ((-1)^{n+1} H_n + (-1)^{n+2} H_{n+1}) t^n + H_1.$$

So, we obtain

$$D_0 = H_1$$
  
 $D_n = (-1)^n (H_{n+1} - H_n) n!. \quad (n \ge 1)$ 

Meanwhile, from (33), we know

$$\sum_{m=0}^{n} \binom{n}{m} \frac{(\lambda - 1)_{m+1}}{(m+1)} D_{n-m,\lambda} = D_n.$$

So, we can complete the proof.

Theorem 3.9 For  $n \ge 0$ , we have

$$\sum_{m=0}^{n-k} {n \choose m} (-1)^n k! D_{m,\lambda}(k) L(n-m,k) = (-1)^{n-k} (n)_k D_{n-k,\lambda}.$$
(35)

Proof By the method of generating function, we get

$$\sum_{n\geq k} \sum_{m=0}^{n-k} \binom{n}{m} (-1)^n k! D_{m,\lambda}(k) L(n-m,k) \frac{t^n}{n!}$$

$$= \sum_{n\geq k} \sum_{m=0}^{n-k} \binom{n}{m} (-1)^m D_{m,\lambda}(k) (-1)^{n-m} L(n-m,k) k! \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} (-1)^n D_{n,\lambda}(k) \frac{t^n}{n!} \sum_{n\geq k} (-1)^n L(n,k) k! \frac{t^n}{n!}$$

$$= \frac{\lambda l n (1-t)}{(1-t)^{\lambda} - 1} (1-t)^k \left(\frac{t}{1-t}\right)^k = \sum_{n=0}^{\infty} (-1)^n D_{n,\lambda} \frac{t^{n+k}}{n!}$$

$$= \sum_{n\geq k} (-1)^{n-k} D_{n-k,\lambda} \frac{t^n}{(n-k)!} = \sum_{n\geq k} (-1)^{n-k} (n)_k D_{n-k,\lambda} \frac{t^n}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we can complete the proof.

Theorem 3.10 For  $n \ge 0$ , we have

$$\sum_{m=0}^{n} {n \choose m} D_{m,\lambda}(x) d_{n-m}^*(\lambda) = d_n(x|\lambda). \tag{36}$$

**Proof** By the method of generating function, we get

$$\sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} D_{m,\lambda}(x) d_{n-m}^*(\lambda) \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^n}{n!} \sum_{n=0}^{\infty} d_n^*(\lambda) \frac{t^n}{n!}$$

$$= \frac{\lambda \ln(1+t)}{(1+t)^{\lambda} - 1} (1+t)^x \frac{(1+t)^{\lambda} - 1}{\ln(1+\lambda t)}$$

$$= \sum_{n=0}^{\infty} d_n(x|\lambda) \frac{t^n}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we can complete the proof.

Theorem 3.11 For  $n \geq 0$ , we get

$$\sum_{m=0}^{n} \binom{n}{m} \tilde{d}_m(\lambda) D_{n-m,\lambda}(x) = D_n(x). \tag{37}$$

$$\sum_{i+j+k=n} {n \choose i,j,k} \tilde{d}_i(\lambda) D_{j,\lambda}(x)_k = D_n(x).$$
(38)

Proof By the method of generating function, we get

$$\sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} \tilde{d}_{m}(\lambda) D_{n-m,\lambda}(x) \frac{t^{n}}{n!}$$

$$= \sum_{n=0}^{\infty} \tilde{d}_{n}(\lambda) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^{n}}{n!}$$

$$= \frac{(1+t)^{\lambda} - 1}{\lambda t} \frac{\lambda ln(1+t)}{(1+t)^{\lambda} - 1} (1+t)^{x}$$

$$= \sum_{n=0}^{\infty} D_{n}(x) \frac{t^{n}}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we can complete the proof of (37), the same reasoning can be proved (38).

Theorem 3.12 For  $n \geq 0$ , we get

$$\sum_{m=0}^{n} \binom{n}{m} b_{m,\lambda} D_{n-m}(x) = D_{n,\lambda}(x). \tag{39}$$

$$\sum_{i+j+k=n} {n \choose i,j,k} b_{i,\lambda} D_j(x)_k = D_{n,\lambda}(x). \tag{40}$$

**Proof** By the method of generating function, we have

$$\sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} b_{m,\lambda} D_{n-m}(x) \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^n}{n!} \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}$$

$$= \frac{\lambda t}{(1+t)^{\lambda} - 1} \frac{\ln(1+t)}{t} (1+t)^x$$

$$= \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^n}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we can complete the proof of (39), the same reasoning can be proved (40).

Theorem 3.13 For  $n \ge 0$ , we get

$$\sum_{\substack{i+j+k-n\\i\neq j}} \binom{n}{i,j,k} D_{i,\lambda}(x) \tilde{d}_j(\lambda) C_k = (x)_n. \tag{41}$$

Proof By the method of generating function, we have

$$\begin{split} &\sum_{n=0}^{\infty} \sum_{i+j+k=n} \binom{n}{i,j,k} D_{i,\lambda}(x) \tilde{d}_j(\lambda) C_k \frac{t^n}{n!} \\ &= \sum_{i=0}^{\infty} D_{i,\lambda}(x) \frac{t^i}{i!} \sum_{j=0}^{\infty} \tilde{d}_j(\lambda) \frac{t^j}{j!} \sum_{k=0}^{\infty} C_k \frac{t^k}{k!} \\ &= \frac{\lambda ln(1+t)}{(1+t)^{\lambda}-1} (1+t)^x \frac{(1+t)^{\lambda}-1}{\lambda t} \frac{t}{ln(1+t)} \\ &= (1+t)^x = \sum_{n=0}^{\infty} (x)_n \frac{t^n}{n!}. \end{split}$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we can complete the proof.

Theorem 3.14 For  $n \ge 0$ , we get

$$\sum_{i+j+k=n} {n \choose i,j,k} D_{i,\lambda}(n) \tilde{d}_j(\lambda) C_k = n!. \tag{42}$$

**Proof** When (41) x = n, we can complete the proof.

Theorem 3.15 For  $n \ge 0$ , we have

$$\sum_{i+j+k=n} {n \choose i, j, k} D_{i,\lambda}(x) \tilde{d}_j(\lambda) C_k \lambda^k = d_n(x|\lambda). \tag{43}$$

Proof By the method of generating function, we have

$$\sum_{n=0}^{\infty} \sum_{i+j+k=n} \binom{n}{i,j,k} D_{i,\lambda}(x) \tilde{d}_j(\lambda) C_k \lambda^k \frac{t^n}{n!}$$

$$= \sum_{i=0}^{\infty} D_{i,\lambda}(x) \frac{t^i}{i!} \sum_{j=0}^{\infty} \tilde{d}_j(\lambda) \frac{t^j}{j!} \sum_{k=0}^{\infty} C_k \lambda^k \frac{t^k}{k!}$$

$$= \frac{\lambda \ln(1+t)}{(1+t)^{\lambda}-1} (1+t)^x \frac{(1+t)^{\lambda}-1}{\lambda t} \frac{\lambda t}{\ln(1+\lambda t)}$$

$$= \frac{\ln(1+t)}{\ln(1+\lambda t)^{\frac{1}{\lambda}}} (1+t)^x = \sum_{k=0}^{\infty} d_n(x|\lambda) \frac{t^n}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we complete the proof.

Theorem 3.16 For  $n \ge 0$ , we have

$$\sum_{i+j+k=n} {n \choose i,j,k} D_{i,\lambda} C_j(\lambda) L(k,\lambda) = (-1)^{\lambda} {n \choose \lambda} b_{n-\lambda,\lambda}.$$
(44)

Proof By the method of generating function, we have

$$\sum_{n=\lambda}^{\infty} \sum_{i+j+k=n} \binom{n}{i,j,k} D_{i,\lambda} C_j(\lambda) L(k,\lambda) \frac{t^n}{n!}$$

$$= \sum_{i=0}^{\infty} D_{i,\lambda} \frac{t^i}{i!} \sum_{j=0}^{\infty} C_j(\lambda) \frac{t^j}{j!} \sum_{k=\lambda}^{\infty} L(k,\lambda) \frac{t^k}{k!}$$

$$= \frac{\lambda l n (1+t)}{(1+t)^{\lambda} - 1} \frac{t (1+t)^{\lambda}}{l n (1+t)} \frac{(-1)^{\lambda} t^{\lambda}}{(1+t)^{\lambda} \lambda!}$$

$$= \frac{\lambda t}{(1+t)^{\lambda} - 1} \frac{(-1)^{\lambda} t^{\lambda}}{\lambda!} = \sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^n}{n!} \frac{(-1)^{\lambda} t^{\lambda}}{\lambda!}$$

$$= \sum_{n=0}^{\infty} (-1)^{\lambda} b_{n,\lambda} \frac{t^{n+\lambda}}{n! \lambda!} = \sum_{n=\lambda}^{\infty} (-1)^{\lambda} \binom{n}{\lambda} b_{n-\lambda,\lambda} \frac{t^n}{n!}$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we complete the proof.

Theorem 3.17 For  $n \ge 0$ , we have

$$\sum_{i+j+k=n} {n \choose i,j,k} b_{i,\lambda} B_{j,\lambda} d_k(\lambda) = \sum_{m=0}^n {n \choose m} B_m D_{n-m,\lambda}.$$

$$(45)$$

Proof By the method of generating function, we have

$$\sum_{n=0}^{\infty} \sum_{i+j+k=n} \binom{n}{i,j,k} b_{i,\lambda} B_{j,\lambda} d_k(\lambda) \frac{t^n}{n!}$$

$$= \sum_{i=0}^{\infty} b_{i,\lambda} \frac{t^i}{i!} \sum_{j=0}^{\infty} B_{j,\lambda} \frac{t^j}{j!} \sum_{k=0}^{\infty} d_k(\lambda) \frac{t^k}{k!}$$

$$= \frac{\lambda t}{(1+t)^{\lambda} - 1} \frac{\ln(1+\lambda t)^{\frac{1}{\lambda}}}{e^t - 1} \frac{\ln(1+t)}{\ln(1+\lambda t)^{\frac{1}{\lambda}}}$$

$$= \frac{t}{e^t - 1} \frac{\lambda \ln(1+t)}{(1+t)^{\lambda} - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!} \sum_{n=0}^{\infty} D_{n,\lambda} \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} B_m D_{n-m,\lambda} \frac{t^n}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we complete the proof.

Theorem 3.18 For  $n \ge 0$ ,  $k \ge 1$ , we have

$$\sum_{m=0}^{n} \binom{n}{m} D_{m,\lambda}^{(k)}(k) \hat{C}_{n-m}^{(k)} = b_{n,\lambda}^{(k)}(x). \tag{46}$$

Proof By the method of generating function, we have

$$\begin{split} &\sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} D_{m,\lambda}^{(k)}(k) \hat{C}_{n-m}^{(k)} \frac{t^{n}}{n!} \\ &= \sum_{n=0}^{\infty} D_{n,\lambda}^{(k)}(k) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} \hat{C}_{n}^{(k)} \frac{t^{n}}{n!} \\ &= \left(\frac{\lambda l n (1+t)}{(1+t)^{\lambda} - 1}\right)^{k} (1+t)^{k} \left(\frac{t}{(1+t) l n (1+t)}\right)^{k} \\ &= \left(\frac{\lambda t}{(1+t)^{\lambda} - 1}\right)^{k} (1+t)^{x} = \sum_{n=0}^{\infty} b_{n,\lambda}^{(k)}(x) \frac{t^{n}}{n!}. \end{split}$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we complete the proof.

Theorem 3.19 For  $n \ge 0$ ,  $k \ge 1$ , we have

$$\sum_{m=0}^{n} {n \choose m} D_{m,\lambda}^{(k)}(x)(\lambda k)_{n-m} = \hat{D}_{n,\lambda}^{(k)}(x). \tag{47}$$

Proof By the method of generating function, we have

$$\sum_{n=0}^{\infty} \sum_{m=0}^{n} \binom{n}{m} D_{m,\lambda}^{(k)}(x) (\lambda k)_{n-m} \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} D_{n,\lambda}^{(k)}(x) \frac{t^n}{n!} \sum_{n=0}^{\infty} (\lambda k)_n \frac{t^n}{n!}$$

$$= \left(\frac{\lambda l n (1+t)}{(1+t)^{\lambda} - 1}\right)^k (1+t)^x (1+t)^{\lambda k}$$

$$= \sum_{n=0}^{\infty} \hat{D}_{n,\lambda}^{(k)}(x) \frac{t^n}{n!}.$$

Comparing the coefficients of  $\frac{t^n}{n!}$  in both sides of equation, we complete the proof.

## References

- Kim D S , Kim T, Lee S H , et al. A note on the lambda-Daehee polynomials[J]. International Journal of Mathematical Analysis, 2013, 7(61):3069-3080.
- [2] Dongkyu, Lim, et al. Degenerate, partially degenerate and totally degenerate Daehee numbers and polynomials[J]. Department of Mathematics, 2005, (287).
- [3] Nian, Liang, Wang. Some identities on the Higher-order Daehee and Changhee Numbers[J]. Pure and Applied Mathematics Journal Volume 4, Issue 5-1, October 2015, Pages: 33-37.
- Kim T. Degenerate Cauchy numbers and polynomials of the second kind[J]. 2017.
- [5] Kim T, Kim D S. Degenerate Daehee polynomials of the second kind[J]. 2017. arXiv:1707.09537v1 [math.NT] 29 Jul 2017.
- [6] Kim T, Kim D S. Some identities for degenerate Bernoulli numbers of the second kind[J]. 2018. arXiv:1804.10081v1 [math.NT] 26 Apr 2018.
- [7] Feng Qi, Taekyun Kim, Chen Seoung Ryoo. On the partially degenerate Bernoulli polynomials of the first kind. [J]. 2015.
- [8] Kim B M, Jeong J, Rim S H. Some explicit identities on Changhee-Genocchi polynomials and numbers[J]. Advances in Difference Equations, 2016, 2016(1).
- [9] Magaowa, Wuyungaowa. Some identities involving the generalized harmonic numbers[J]. The Journal of Combinatorial Mathematics and Combinatorial Computing, 2012.
- [10] Boyadzhiev K N. Lah numbers and Laguerre polynomials of order negative one[J]. 2016.
- Taekyun Kim. A note on degenerate stirling polynomials of the second kind[J]. 2017.
- [12] Pyo S S , Kim T, Rim S H. Degenerate Daehee Numbers of the Third Kind[J]. Journal of Computational Applied Mathematics, 2018, 364:112343.